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QUESTION 1

How do virtual networks that are natively isolated from each other provide support for overlapping IP address in a multi-
tenant environment?

A. By enabling isolation without using access control lists and firewall rules.
B. By enabling isolation with the help of Active Directory (AD).

C. By employing the spanning tree protocol.

D. By implementing load balancing.

Correct Answer: A

QUESTION 2

Which mode does the NSX Edge router use to connect to the logical network for load balancing?
A. One arm

B. Transparent

C. inline

D. Custom

Correct Answer: A

QUESTION 3

Which plane of the VMware NSX architecture provides a single point of configuration and Representational State
Transfer (REST) API entry points?

A. Management
B. Control

C. Integration
D. Data

Correct Answer: A

QUESTION 4
Which three statements are true about NSX Distributed Firewall? (Choose three.)

A. ft provides East-West stateful Layer 2 - Layer 4 firewall



B. it allows you to create access control policies based on VMware vCenter Server objects
C. such as data centers and clustersDC ft works as perimeter security firewall.

D. It provides North-South stateful Layer 3 - Layer 4 firewall.

E. It is virtualization-aware firewall.

Correct Answer: ABE

QUESTION 5

Which domain does vSphere/ESXi virtualize for the Software-Defined Data Center (SDDC)?
A. Applications

B. Storage

C. Compute

D. Network

Correct Answer: B

QUESTION 6

Which service of VMware Integrated OpenStack has the ability to communicate with VMware NSX Controller, create
logical switches and routers, and add new NSX virtual machines on demand?

A. Neutron
B. Proton
C. Glance
D. Nova

Correct Answer: A

QUESTION 7

Which VMware product can virtualize user desktops so that the desktops reside as virtual machines in the data center?
A. VMware Horizon View

B. VMware vRealize Log Insight

C. VMware Mirage

D. VMware Workspace



Correct Answer: A

QUESTION 8

Which is NOT a benefit of virtualized compute over traditional physical hardware for server deployments?
A. Cost

B. Deployment time

C. Security

D. Flexibility

Correct Answer: C

QUESTION 9

Which NSX component enforces security rules between two virtual machines that are on the same Layer 2 segment?
A. NSX Manager

B. Distributed Router

C. NSX distributed Firewall

D. NSX Controller

Correct Answer: C

QUESTION 10

What are the two core components that VMware NSX leverages for North-South traffic flow with an external network?
(Choose two.)

A. vSphere Standard switch

B. Edge Services Gateway (ESG)
C. vSphere Controller

D. DLR Control VM

Correct Answer: BD

QUESTION 11

What is the total volume of traffic per Distributed Logical Router (DLR) that issupported by the Equal Cost Multipath
(ECMP) model?



A. 20GB

B. 50 GB

C.80GB

D. 40 GB

Correct Answer: A

QUESTION 12

Which component of NSX logical firewall, offered by the NSX Edge Services Gateway (ESG), focuses on North-South
traffic enforcement perimeter or tenant pen meter?

A. Distributed firewall

B. Centralized NSX Edge firewall
C. NSX controller cluster

D. Distributed logical router

Correct Answer: A
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